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i e *
No. T s 4 7| $oE & i
R X — s T #
5 s v & —LUF 2 AT

1 HEELFEE =X 1 23, 402, 200
2 JiEfREk =X 1 1, 054, 552
3 B F2V 1 5, 998, 380
4 TR =; 1 4,504, 314
5 &RHNER =X 1 -9, 446
THFlifEF (1+2+3+4+5) 34, 950, 000
THE B 2 4 % | 10.00% 3, 495, 000
™ # % 3 38, 445, 000




e e *
No. T #= % BAL| & | B 8 L oF & i
R v X —SE T

5 s v & —LUF 2 AT

[EhETHEE]
O |EEER T v & — s T8 (J50) F2V 1 8, 566, 820
@ |ItfEEEmR it s ¥ —%ETH(ER) F2V 1 3,763, 530
@ |l ElR a1 v & — ke T8 (Fts) =X 1 4, 301, 820
@ |FrEEEEmRTE v ¥ — s T (g | X 1 2, 881, 040
® |hEEEEGT X —SETHE(ER) | X 1 3, 888, 990

EELEE G 23, 402, 200




4 i W 7o o= WAL fili | 4 |
D AUz ERE R 2 — e TEN AR5
1 PE AR %
i SelE NEEE 4.4 ot 320 1,408
® E s 1164.0 of 200 232,800
i ez INGiES 241.0 ot 120 28,920
® E AN 16.5 of 440 7,260
=P R el NEESE 4.4 nf 1,200 5,280
=P R NS 1164.0 nf 800 931,200
=P R BRI E 241.0 nf 400 96,400
=P R ANl 16.5 nf 1,560 25,740
st B2 ST 660.0 nt 460 303,600
1-3 1,632,608
2 RIS
(4 &)
Ao A 3.5 m 2,250 7,875
RKEIANA L 4.0 Vaiil 4,500 18,000
(N EB)
At
RIEH T B —HE 600X 1490 X 700 1.0 Vil 5,130 5,130
ar7Y—h
FIET B -G E 540 X 1490 X 200 1.0 2T 10,800 10,800
AR H=120 5.3 m 900 4,770
BRI 52 HAi s 470X 930X 2280 1.0 Vil 7,020 7,020
AF— R =T A a i RiAH80 12.9 i 3,600 46,440
TININ—T A al Ak A F50 7.3 it 2,700 19,710
BAHTAL R
N—TF A ay ol &P FiAZRT0 H2255X L1715 1.0 Vil 10,800 10,800
T
TLUERE 600 X 6002 % 3.0 Vil 2,250 6,750
FLEN T —H 3.0 Vil 24,300 72,900
TANRANER  Lvm3
RIMtE EEER e = i 9.7 ot 16,200 157,140
Jvy gupit 6004 ik
BEAF R e BT ARARLYVmM3 ((LpEW S 4+PB) | 2.0 Vil 22,500 45,000
Jvy gupit 6004 ik
BEAF R f Ep T A ARLVmM3 ({L4EPB) 7.0 Vil 20,700 144,900
Jvy gupit 6004 ik
BEAF R BT A ARLVmM3 (PB#: %) 4.0 Vil 20,700 82,800
Jvy gupit 6004 ik
BEAF R fE B4 3.0 Vil 9,000 27,000
AR T ANRARNREH 1.0 X 90,000
2-7 757,035




4 g W 7o o & KAL) ORMOn | & #H

BER AL 5y

BEM R ik A 7)) —h 0.2 m3 4,500 900

BER Tl AraA F il &8 2.2 m3 4,950 10,890

BER Tl AraA F i RAEHT 1.6 m3 4,500 7,200

BEM R ik A i FLe 3.0 5 900 2,700

BEM R ik A T ANAMGERS  Lvm3 0.3 m3 49,500 14,850

BEM ALy 7)) —h 0.2 m3 2,700 540

BEM Ly &) 2.2 m3 -8,100 -17,820

BEM Ly RAEH 1.6 m3 13,500 21,600

BEM ALy TLE 3.0 5 3,330 9,990

BER AL 5y T ARARNGERS  Lvm3 0.3 m3 45,000 13,500

3-it 64,350

S

(4 #)

Ay a7z AR 3.5 m 6,550 22,925
R TH) HA

REI_A MR t=1.5 4.0 Vaill 1,210 4,840

(N EB)

IS N—F 7 k—F4k

ZY)—7ay— H=150 3.4 ot 10,700 36,380

IS

IREHR t=12 HEEHA AR 3.4 ot 2,810 9,554

IS

RE=—/L—h t=2.0 3.4 ot 2,590 8,806
T

HA D HE t=30 H=150AH0N 1T 0.8 m 7,690 6,152

ARG B EE T 0.8 m 690 552

wEMAR H=100 5.2 m 360 1,872

BEE LA LGIE 0.4 ot 4,480 1,792

BEE LAV IHEPY 0.4 ot 1,650 660

WEATRE

F LA )L HEPS: 12.3 ot 1,650 20,295

WEATRE

7] b g RB& 12.3 ot 840 10,332
HIATER—F

[ R ek R Ry i 9.7 of 2,130 20,661

IEZ S Ib SW-1 1.0 Vil 558,300 558,300

IEZSIb SW-2 1.0 Vil 517,500 517,500

R EIRO A s 1.0 X 353,800




4 i W 7o o= WAL fli | & |
ZePRE R A R Rl 2.0 Va5l 49,900 99,800
[ - EO A3 IS 1.0 = 63,000

BAHTRD A
IN—=T A ar A5 EF B | iAART0 H2255X 11715 1.0 Vel 42,000 42,000
W=35
~OFHZ &) SUS t=1.2 1.5 m 1,220 1,830
BA O Al 3t
KIFEkA T IRE600F 16.0 2T 11,000 176,000
t=12 U7 bR 5K
A fE BAF t=9.5A R —K F it 0.4 nf 4,800 1,920
t=12 F&T{LHENL &R
A fE BAF t=9.5A R —K Filidt 0.4 nf 4,800 1,920
A fE BAF t=9.5{L¥EABER—F 3.6 ot 1,690 6,084
AT LR
[ E BAF 1.4 nt 2,280 3,192
A fE BAF t=9.5AFHR—F 1.4 nt 1,400 1,960
TLENCH — BTGy
KIFMEE I t=9.5{LFEABR—F 1.0 Vaiil 10,600 10,600
4-7f 1,982,727
i
(A5
KOKUYO A=37TF—7 L fFl
HEWZf 727 TIN-SK1807M-BY3Y31/r) % & 3.0 A 108,000 324,000
TOYOSTEEL DPAw & —/33 )1
A Ef-g)/ 1 DP-1006A6 745 5 9.0 & 54,900 494,100
ST SRR B 1.0 = 65,700
CRIE%)
KOKUYO A= 7F—7 L44#1
HEWZf 727 TIN-SK1807M-BY3Y31/r) % & 3.0 A 108,000 324,000
TOYOSTEEL DPAw & —/33 )1
A Ef-g)/ 1 DP-1006A6 745 5 9.0 & 54,900 494,100
ST SRR B 1.0 = 65,700
53t 1,767,600
YA fE
1 EFH R PE AL O
FEPMRE 1200 X 1800mm | I VESE K OBEAF 3 55 1.0 (530 27,000 27,000
2 AL A DT T NAEARELTAP)
AARZEINIR 2000 X3000mm | AP.3t. A2 7Y =y ki —Rk 1.0 [E0i) 162,000 162,000
3 Af AR
ST 1000X200mm | LA KR OF A /7> —Rik 1.0 [E0i) 21,600 21,600
4 A AR
RN 860X 1500mm  |AP.3t. ATV =y —R ik 1.0 551308 81,000 81,000
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fein
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5 A AH
ZAHRFZENIRK 450 X 900mm

AP.3t. A7V =y b —hik

1.0

11,700

11,700

6 AEEFFA=E
X0 ZENMR 750 X 450mm

AP.3t. AV V= b —hik

1.0

10,800

10,800

T AREERFAE
X0 ZMR 750 X 450mm

AP.3t. AL 7V b —hik

1.0

10,800

10,800

8 AEEFFO=
X0 ZENMR 750 X 450mm

AP.3t. AV V= b —hik

1.0

10,800

10,800

9 AREEFFO=
X0 ZRNM 750 X 450mm

AP.3t. A7V =y b —hik

1.0

10,800

10,800

10 REEFFEE
X0 ZENMR 750 X 450mm

AP.3t. AV V= b —hik

1.0

10,800

10,800

11 KEEFFEE
250 2N 750 X 450mm

AP.3t. A7V b —bik

1.0

10,800

10,800

12 KEEFFEE
X0 ZENMR 750 X 450mm

AP.3t. ALV =y b —biE

1.0

10,800

10,800

13 KRG E
X0 ZRNM 750 X 450mm

AP.3t. A7V =y b —hik

1.0

10,800

10,800

14 KEEFFEE
H B2 A 22N 750 X 450mm

AP.3t. AV V= b —hik

1.0

10,800

10,800

15 AKERFFEEE
TSR 1300 X 1100mmK 7

AP.3t. AV V= b —bik

1.0

97,200

97,200

16 AREEFFEE
FRE~OFEM 750 X 4500 K 7

AP.3t. ALYy b —hik

1.0

32,400

32,400

17 REEFE=
AAE2BE~THEAR 1300 X 1100mm K s

AP.3t. A7V =y b —hik

1.0

97,200

97,200

18 AfE1ME PEEE
P 550 X 300mn

AP.3t. AV V= b —hik

1.0

7,200

7,200

19 AKAE1ME PEEE
2MEDZENIR 1300 X 1100mm

AP.3t A7V zy o —ME R

1.0

97,200

97,200

20 AREEFFA=
Fr4= 22PN 700 X 900mm

AP.3t. ALYy b —hik

1.0

18,000

18,000

21 AREE1RE PEE:
Fra= 22N 700 X 900mm

AP.3t. AV V= b —bik

1.0

18,000

18,000

22 ARRE2ME PR
Fr4= 22PN 700 X 900mm

AP.3t. ALYy b —hik

1.0

18,000

18,000

23 ARRE3ME PR
Fra= 22N 700 X 900mm

AP.3t. AV V= b —bik

1.0

18,000

18,000

24 REEWED BT TR
HEEO LM 1300 X 1100mm

AP.3t. ALYy b —hik

1.0

45,000

45,000

25 FEEMED R TR
ZX 05 400 X 600mm

AP.3t. A7V =y b —bik

1.0

8,100

8,100

26 HEERFA
BOFHER 750 X450mm K if

AP.3t. ALYy b —hik

1.0

32,400

32,400

27 FrERHAE
EOFFER 600X 450mn

AP.3t. A7V =y b —bik

1.0

8,100

8,100

28 T AR A S
AHZEAMR 550 X 300mm

AP.3t. ALYy b —hik

1.0

7,200

7,200

29 T MEAR A S
HU A AR 550 X 300mm

TIINVHAN 3t A 7Yz b — R

1.0

7,200

7,200

30 T AR A S
HOEKT YA 800X 355mm

T AT — AR

1.0

12,600

12,600

31 FrEfHFAE
250 2N 750 X 450mm

AP.3t. A7V =y b —bik

1.0

7,200

7,200

32 FrEHAE
AN 750 X 450mm

APt ALV =y — M

1.0

7,200

7,200

33 BrERAE
AN 750 X 450mm

APt ALV =y — M

1.0

7,200

7,200

34 BrERAE
AN 750 X 450mm

AP.3t. AL 7Y =y b —hik

1.0

7,200

7,200

35 BrERAE
AN 750 X 450mm

AP.3t. AL 7Y =y b —hik

1.0

7,200

7,200

36 BrERAE
AN 750 X 450mm

AP.3t. A7z b —R Mk

1.0

7,200

7,200

37 iE PE B B Al
Bl ~OFFLMR  600B X 450mm

AP.3t. AL 7Y =y —hik

1.0

8,100

8,100

38 FrfERFAE
ZZORNK 1300X450mm K

APt ALV =y —

1.0

55,800

55,800




4 g W 7o o & KAL) ORMOn | & #H

39 FrEfFAE

RHHRE 1800 X 600mm | Z=VE3E K OVK HAiiE 1.0 AT 3,600 3,600
40 FrEEfFA =

72 FFEM 450X 750mn | AP.3t. A2 7=y ho— Rk 1.0 AT 10,800 10,800
41 FriEfHFa =

G ~OFTEM 1300X 1100mm AP.3t. A2 7z b —R ik 1.0 AT 37,800 37,800
42 A=

LB ~DFER 750X 450mm |AP.3t. AL Ty M — R 1.0 AT 10,800 10,800
43 FrEfFA =

LB ~DFER 700X800mm |AP.3t. AL Ty v —R g 1.0 AT 16,200 16,200
44 FrEfHFA =

Flix A2 750X 450mK T | AP.3t. AL 7Yy hi —h ik 1.0 AT 32,400 32,400
45 FrEfFA =

BREOEE T 700X 800mm |AP.3t. AL 7Yy b —R 1.0 AT 16,200 16,200
46 FrEEfFA =

BEHRERMM 750 X450m |AP.3t. A2 7Y x v —hih 1.0 AT 10,800 10,800
47 FriEfFA =

FEHRERMM 750 X450m |AP.3t. A2 7Y = v —hih 1.0 AT 10,800 10,800
48 FrEfFA =

BOGATH AL 800X 355mm | 72U FL 3t ALYy b — R 1.0 T 12,600 12,600
49 FrEfHFA =

BOEATH AL 800X 355mm | 72U FL 3t ALYy b — R 1.0 T 12,600 12,600
50 BrEfFAE

22 2P 750 X 450mm |AP.3t. A 7Y =k —Rk 1.0 AT 7,200 7,200
51 FrEfFa =

2202 750 X 450mm |AP.3t. A 7Y =y ko —Rk 1.0 AT 7,200 7,200
52 FrEfFAE

2202 750 X 450mm |AP.3t. AL 7Y =y ko —Rk 1.0 AT 7,200 7,200
53 BrEfFAE

RO RNH 750 X450mm |AP.3t. A2 7Yz —REk 1.0 [E80 7,200 7,200
54 FrEfFAE

RO RNH 750 X450mm |AP.3t. A2 7Yz —REk 1.0 [580 7,200 7,200
55 HrfE1RE HPEE

BEERZRPIAR 700 X 900mm |AP.3t. A2 7=y h —Rik 1.0 AT 18,000 18,000
56 HriE2ME HPEE

BEERZRPNAR 700 X 900mm |AP.3t. A 7Y =y h — Rk 1.0 AT 18,000 18,000
57 HrE3ME HPEE

BEERZRPIAR 700 X 900mm |AP.3t. A2 7=y h —Rik 1.0 AT 18,000 18,000
58 HrfE 1RE FEREE:

BEERZRPNAR 700 X 900mm |AP.3t. A 7Y =y h — Rk 1.0 AT 18,000 18,000
59 HrEokE TEREE:

BEERZRPIAR 700 X 900mm |AP.3t. A2 7Y =y h— Rk 1.0 AT 18,000 18,000
60 HrAE3ME FEREE:

BEERZRPNAR 700 X 900mm |AP.3t. A 7Y =y h — Rk 1.0 AT 18,000 18,000
61 A HO

HiE 400 X 600mm WEROT A /07— 1.0 [E80 21,600 21,600
62 AREEAI S

AEEHAA 600X900mm  |AP.3t. AL 7Y =y —hik 1.0 [5G0 59,400 59,400
BR B

ALk ¢ 1.0 X 450,000
BEAFH S R Oy 2 1.0 X 54,000
BUWEH T — 2Bk 1.0 X 135,000
VHAER B 1.0 X 90,000
e 1.0 X 90,000
A 1.0 X 45,000
AR FI 2 1.0 X 67,500
6-7 2,362,500
E BRI 2 — s THENGREE) At 8,566,820




% PR A = B & H AL i | & W
@ |EEERT 2 — e THENRER)
I -B R L
1| BATER AN EATRAR
RYTF L ifffgk e BEM-IE 8sq (77—2A) 46.0 m 920 42,320
RVxFL oy —2r—7 )L EM-CET 38sq (&) 33.0 m 5,250 173,250
RV FL o —R7r—7 L [EM-CET 38sq (F7) 60.0 m 5,800 348,000
PHBLFE AR E 63 (i tHEdE) 7.0 m 10,000 70,000
TE e = LB VE 54 (% HEdE) 17.0 m 7,640 129,880
& BT LS B F 63 (&= L {7 6.0 m 6,800 40,800
== LUK VE 54 4.0 &l 1,300 5,200
TIVIR YT A SS 250 X 250 X 150 -V 1.0 &l 17,700 17,700
TINRY I A SS 250 X 250 X 250 -V 1.0 1 20,700 20,700
[N BE s ) 1.0 = 85,280 85,280
BT 5y EM (L-2-1) SRR R A 1.0 ] 402,000 402,000
BEAEBG K K B i Al | 7> 2 (W=500) 2.0 DT 15,500 31,000
BRI EEE IR VE 1.0 N 38,500 38,500
- 1,404,630
2| AT 2B MY
R)TFL P —R7—7 L EM-EEF 2.0-3C (&) 122.0 m 1,180 143,960
RN)TFL P —R7—7 ) | EM-EEF 2.0-3C (KH:MN) 190.0 m 990 188,100
R)TFL v —R7—7 ) [ EM-CE 3.55q-3C (&) 33.0 m 1,280 42,240
Wearft g or—7 v 2.0 m 740 1,480
TE e = LB VE 22 (#HEdE) 1.0 m 3,020 3,020
TE e = LB VE 28 (# i) 18.0 m 3,690 66,420
& BT LS B F 30 (&= V{7 ) 7.0 m 3,810 26,670
/==L VE 28 6.0 &l 340 2,040
TINRY I A SS 150X 150 X 150 -V 1.0 1 11,400 11,400
TRy Ry 7 A (VE) HPUff dHA S —14 1.0 1 4,630 4,630
Bifg R 1.0 = 34,250 34,250
14 e B O° AR LE—)L AT 31.0 m 3,770 116,870
A I £ )& dh ARl a—F =Ry IR 4.0 1 5,050 20,200
AL ATEsh AL 7F b LR 4.0 &l 160 640
[A [ A1) AR A B —F LT )VaR 3.0 1 140 420




4 PR W FaS OB HAL i | 4 AN

AL A e AR T)—Va Ak 2.0 1 240 480
7] L )& dh AL Zaf Ny TV 11.0 i 80 880
Al L )& dh AL Ty s 8.0 i 60 480
Al L )& dh AR Dy a Ry g A 3.0 i 5,670 17,010
AL A e AR 2y TRy 7 A (ERIER) 5.0 1 5,220 26,100
1B RO AZ)E—)L BRI 25.0 m 5,000 125,000
AL e BRI a—F—Ry s 2.0 1 5,360 10,720
AL A e BA! 77y LR 6.0 1 390 2,340
Al L )& dh B A2 F—Fpx LR 4.0 i 330 1,320
AL A e BA! 7Y—VaA b 2.0 1 410 820
Al L )& dh BR YaAfL Ny TV T 4.0 i 140 560
Al L )& dh BR 7y 10.0 i 90 900
7] L )& dh BHl Uy svar iyl A 2.0 i 5,670 11,340
[F b A B Ay TRy 7 A (GEEL3ME ) 2.0 &l 6,350 12,700
AL A e BRI AA v TRy s A (GEAELAMH ) 2.0 1 7,490 14,980
HGABE R T (B b | 2P1BA(ER) X 2+ET X 1 6.0 1 3,670 22,020
HUAREHS (a2 2PISA(BR) X 24ET X 1 3 2.0 i 8,250 16,500
HABE I B | 2P1SA(ERD) X 2+ET X 1 45 ff] 2.0 1 10,600 21,200
o e b 2P15A(EfF) X 1 1.0 i 3,190 3,190
WEAF ST AR ERIE ORAR L-2) | [BIEEHYE% (MCB2P50/20AT X 1) 1.0 =K 17,200 17,200
WEAF ST AR ERE GBI L-2) | [RIEEHYE% (MCB2P50/20AT X 2) 1.0 =K 34,500 34,500
WEAF ST AR E GBI L-3) | [RIBEHYE% (MCB2P50/20AT X 1) 1.0 =K 17,200 17,200
o T4 BEa 7% ¢25 (RC D=150) 6.0 DA 9,170 55,020
195 < X TR B 3 BEEE (VAv/7TiE) 25 2.0 NI 2,010 4,020
2-#t 1,078,820
B 1A B 1570k

BETF IR —7 L

BI[EI L s 1.0 DT 1,600 1,600
el g —7 1 2.0 m 920 1,840
TR IR SS 200X 200 X 150 WP-SUS 1.0 1" 22,500 22,500
o TH BEa7 P& ¢ 38 (RC D=150) 1.0 DT 9,620 9,620
3-it 35,560




4 P N oy OB HAL it B

P O MR

UTPr—7 v EM-UTP CAT6-4P (%) 186.0 m 690 128,340
UTPr—7 v EM-UTP CAT6-4P (F>7) 187.0 m 820 153,340
UTPr—7 v EM-UTP CAT6-4P (KH:A) 451.0 m 570 257,070
1B RO AFLE—/L A 59.0 m 3,770 222,430
Al L )& dh ARl 2 —F—Ry I A 5.0 i 5,050 25,250
AL e AR 7T b LR 10.0 1 160 1,600
Al L )& dh AR A B —F LT LR 5.0 i 140 700
AL A e AR =g 2R —F T LR 2.0 1 140 280
Al L )& dh AR 7Y —TaAf b 5.0 i 240 1,200
Al L )& dh AL Zaf Ny TV 22.0 i 80 1,760
Al L )& dh AL Ty s 14.0 i 60 840
7] L )& dh AR Dy ar Ry g A 4.0 i 5,670 22,680
AL e AR 2y TRy 7 A (ERILER) 7.0 1 5,220 36,540
A kst R R O IAYTuT s (17xA) 3.0 m 3,720 11,160
A L )& dh TORF Yy 1.0 1 220 220
A L )& dh Yafr by s 1.0 18l 90 90
AL ) AV — N T 1.0 1 380 380
A= b CAT6RIGE 25—V vy 1.0 {1 4,180 4,180
A= b CATEHIGEY 2T —V vy X2 6.0 1@ 6,610 39,660
2T —T5S CAT6H 19.0 1# 3,210 60,990
HUB! i AR BEH 1.0 ] 53,400 53,400
LAY2RAF L000BASE- T %fii 16248 —h 1.0 1 85,000 85,000
LAY2RAF 1000BASE-T %fhis 445 —h 1.0 1 37,300 37,300
O LHE BESTHiE ¢ 25 (RC D=150) 5.0 AT 9,170 45,850
T TH BEa7 P ¢ 32 (RC D=150) 2.0 DT 9,620 19,240
195 < DT B 3 BEEGR (VA7 TIE) ¢ 25 2.0 NIl 2,010 4,020
WEAFB) K DX Bl A i A | 77 ] (W=500) 2.0 Nk 15,500 31,000
4-3t 1,244,520
LEEER T — R IE T FNRER) At 3,763,530




4 g ] P H HAL BHOfli | & T ]
ORERE L S e R S LING: 1)
1 —C bR E T3
1 ZEFRalin L5
ARy M ZEFR
(FrEED) BEMFE MACS04B 1.0 = 1,270,000 1,270,000
BT lkw BEFES.0kw
16200V 60Hz
WHEBES 2.32kw
ARy bR ZEFH
(GRiELY) HEHF MAC1604 1.0 = 1,630,000 1,630,000
WE14.0kw BEFE16.0kw
16200V 60Hz
TE 23 J)4.65kw
RLvze sk #ELFE MACS0HY 1.0 5 54,000
PRIR 7L %7 L 7R2m
PERA 7y MACSOR!  [AHEdh PER T —RED 1.0 bl 204,000 204,000
fRIR 7L %L 7L 7 Rsm
PERA 7y MACI60%! | AHEdL PER T —RED 1.0 bl 330,000 330,000
R 2.0 =5 39,600 79,200
T 1.0 = 81,000
1-3 3,648,200
2| =TI
BETFEENRE RERL o — Ui 1.0 5 33,300
BEfFEE91 0% s 1.0 5 10,100
R 9.52 ¢ 5.0 m 600 3,000
R 15.88 ¢ 5.0 m 900 4,500
RL B VP25 3.0 m 740 2,220
oy o aa= g 1.0 = 118,500
FUT—aE W=1200 D=165 H=370 1.0 = 5,400
TZ7 1k TV T—AEILED 2.0 BB 4,100 8,200
SRt IS 41 4.0 =5 60,600 242,400
L —4.9t
BETT s i g am o TE- ARG T 1.0 = 226,000
2-5t 653,620
@ HE gt 2 — ks THENFROER) A 4,301,820




4 g 4 w oo & HEAN fli | & T ]
1 J3AEC B RN, R - 1
R PE) HE
REIASA R t=1.5 1.0 »ArY4Y
JISK5665 3ff15
R NI4T _AUR 0.570 kg 410 234
JISR330115
HIAL —R 0.025 kg 200 5
T ~— 0.025 kg 540 14
L3l 0.091 L 180 16
T H A 1.0 = 13
ENELaS T 1.0 Vil 930 930
it 1,212
R Bl 1 Vabil 1,210
B JAEC B N0 -2
FERE A
A L% t=15H=150 1.0 m4
AH FEE M 0.003 m3 730,000 2,190
&7 0.020 kg 218 4
KT 0.075 32,400 2,430
Wesm T 0.008 A 26,700 214
Z D, 1.0 = 661
7 5,499
R Bl 1 m34 5,500
BIRE BH RHNo 2 -3
TEEM
HON D AE t=30 H=150A%NT 1.0 m¥4Y
At TEEM 0.006 m3 730,000 4,380
&7 0.020 kg 218 4
KL 0.075 32,400 2,430
W3 T 0.008 26,700 214
Zfth, 1.0 = 661
i 7,689
B A 1 m 7,690




% PR A = B & H AL i | & W

1A B HENo. 35 -1

% 2 Ty 1 V)

ENZELR T O E ORERE 10.0 ] 46,500 465,000

i 155 1 155 BB AR JL—16t AL —F 1 1.0 X 48,500

AV H—R7 =2 AH=1800 32.4 m 2,390 77,436

at 590,936
R HLAM 1 VY 590,000

1A BA AN -2

GEN H—R7 = AH=1800 10.0 m¥HY 90 fYHA

ARBAV H—R7 = AH=1800 5.56 # 2,190 12,176

1EFLE 1.0 W 608

EmfEER 0.08 A 23,200 1,856

Z ot 1.0 X 296
N

[ AR A 475 0.204 A
RS HS 0.204 A 22,200 4,529
PREHEE B 6.65 L 160 1,064
BRI R 0.231 H 8,600 1,987
Z it 1.0 M 1,390

b 23,906
B HLAf 1 m 2,390




4 g 4 w oo & HEAN fli | & T ]
PR E B X — WE TR )
R R
#* £ N SE 993.0 nf 200 198,600
#* 4 BN E 211.0 nf 120 25,320
PG NEEE 993.0 nf 800 794,400
B e BB 211.0 nf 400 84,400
R RS JHS7. 583.0 nf 460 268,180
1-3 1,370,900
ik
RO 60044 i3k
BEAE R 4= £ b7 AR ARNLYmMS (LPELE4+PB) | 15.0 i 22,500 337,500
RO 60044 i3k
BEAFE R 4= b7 ARARLVm3 ({L$EPB) 1.0 i 20,700 20,700
27t 358,200
BEM Ly
BEM Ly T ANANES  Lvm3 0.1 m3 49,500 4,950
BEM L5y &) 0.3 m3 45,000 13,500
3-F 18,450
g
BR O s 3t
KIFmmn 7 L IRE600 4 16.0 il 11,000 176,000
t=91y 77— AL RER K
R Bt 600 X600 T HiAR—R4: 15.0 bl 4,800 72,000
t=9.5{bEAER—F
R Bt 600 X 600 1.0 bl 1,690 1,690
4-§t 249,690
fii &
KOKUYO A= 7T —7 /LA
AEZ A T2 TIN-SK1807M-BY3Y31[F)%: i 3.0 =) 108,000 324,000
TOYOSTEEL DPA U Z—/R %)L
Al _EAg) <o DP-1006A67]4% & 9.0 & 54,900 494,100
FEST B SR B 1.0 = 65,700
5-5 883,800
PR EERGR Y —RIE TENREE) A 2,881,040




4 PR W = OB HAL i | 4 AN
® | EEERE R & — Yl TN AR (50
I -B R L9
1| BXTRR AR AT
RYTF LAk A EM-IE 8sq (7 —*) 11.0 m 920 10,120
RYxFL v —R7—7)L | EM-CET 38sq (& M) 5.0 m 5,250 26,250
R)xzF Ly —Ar—7 ) |[EM-CET 38sq (Fv7) 68.0 m 5,800 394,400
R)xF Ly —Rr—7/L EM-CET 38sq (K}H:M) 6.0 m 4,700 28,200
TEE =V AR VE 54 (i# HEE) 2.0 m 7,640 15,280
Bl H SR e 1.0 M 4,580 4,580
AT oy (L-14) S g 1.0 i 470,000 470,000
BEAFRANF -7Vl | EATECEAR Syl el Y a3 1.0 =K 420,000 420,000
WEAFR) A P B i Al | 2> 7 T (W=400) 3.0 DT 13,600 40,800
BRRZEHRELRNE 1.0 X 48,800
1-&f 1,458,430
2 EITEAE 2 Myl
Rz F Ly —Rr—7/L  EM-EEF 2.0-3C (/) 102.0 m 1,180 120,360
Rz F Ly —Rr—7L |EM-EEF 2.0-3C (XHH) 814.0 m 990 805,860
TEE =V R VE 54 (i# HEE) 5.0 m 7,640 38,200
Bl H SR e 1.0 oM 11,460 11,460
1 & B RO AZLE—)L AT 5.0 m 3,770 18,850
AL A e AR S—F—Ry I A 2.0 1 5,050 10,100
A b A5 dh AL Zaf Ny TV 2.0 i 80 160
[F_E A dh AL Ty s 2.0 i 60 120
AL e AR 2y TRy 7 2 (ERIER) 2.0 1 5,220 10,440
1B RO A E—)L BRI 15.0 m 5,000 75,000
AL e BRI a—F—Ry s 5.0 1 5,360 26,800
[F b A BR YaAfL Ny TV T 5.0 i 140 700
A b A5 dh BR 7y 5.0 i 90 450
AL e BRI AA v T Rys R (GEAL2{H ) 7.0 1 5,590 39,130
Al L A g B ZA TRy 7 A (GIRL41E ) 1.0 (& 7,490 7,490
HABE R T a b | 2PISAER) X 24ET X 1 2.0 1l 3,670 7,340
AR T a b | 2PISAERH) X 2+ET X1 23 7.0 1l 5,860 41,020
AR T a b | 2PISAERH) X 2+ET X1 43 1.0 1l 10,600 10,600




% PR A = B & H AL i | & W

EIiE RN Vg 2P15A(Eff) X 1 1.0 &l 3,190 3,190
Y T BEa 7 & ¢ 25 (RC D=150) 1.0 DT 9,170 9,170
R BEa 7 HE ¢ 32 (RC D=150) 1.0 DT 9,620 9,620
2-% 1,246,060
7R B 5

UTPS—7 L EM-UTP CAT6-4P (%) 112.0 m 690 77,280
UTPS—7 )L EM-UTP CAT6-4P (KF:M) 993.0 m 570 566,010
14 e B O° AR JLE— L AR 26.0 m 3,770 98,020
A b A5 dh ARl a—F—Ry IR 9.0 &l 5,050 45,450
[F_E A AR al L Wiy TV T 9.0 &l 80 720
A b A5 dh AR Ty 9.0 &l 60 540
A I £ )& dh AR 24y F Ry 72 (EHIE ) 9.0 1 5,220 46,980
14 e B O° AR LE— )L BRI 2.0 m 5,000 10,000
A I £ )& dh B a—F—Ry 7 X 1.0 i 5,360 5,360
[F_E A BE 7wy vy 1.0 &l 90 90
B A b CATO6RIIGEY 2T — Vv X2 9.0 &l 6,610 59,490
TVaT—TTS CAT6/H 22.0 1 3,210 70,620
HUBJY SRR B 1.0 ] 53,400 53,400
LAY2AAvF L00OBASE - T %fiis 1648 —h 1.0 1 85,000 85,000
B0 T3 BEaTHix ¢25 (RC D=150) 4.0 DET 9,170 36,680
B0 T BEaT & ¢ 32 (RC D=150) 3.0 DET 9,620 28,860
3-it 1,184,500
W (S IEER e X —YdE LHERARR(ER) A8t 3,888,990




% PR A = B & H AL i | & W

1A B HENo. 35 -1

% 2 Ty 1 V)

ENZELR T O E ORPERE 12.0 Ji] 46,500 558,000

i 155 1 155 BB AR JL—16t AL —F 1 1.0 X 48,500

AV H—R7 = AH=1800 32.4 m 2,390 77,436

at 683,936
R HLAM 1 =K 684,000

1K B AENo. -2

RBAV H—R7 =2 AH=1800 10.0  m3%4Y 90 LA H

A H—R7 = AH=1800 5.56 ¥ 2,190 12,176

G 1.0 oy 608

HEIEER 0.08 A 23,200 1,856

Z ot 1.0 = 296
V%4

[ (R A e 45H 0.204 A
RS 0.204 A 22,200 4,529
R R 6.65 L 160 1,064
B 0.231 H 8,600 1,987
Z oAl 1.0 = 1,390

i 23,906
R HLAM 1 m 2,390




